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Limiting Reagent Worksheet

Copper (II) chloride reacts with sodium nitrate.

Write the balanced equation for the reaction given above:

CuCl, +dNaNO; — C“(NO%z + @ NaCl

If 15.0 grams of copper (ff) chloride react with 20.0 grams of sodium nitrate, how much sodium
chloride can be formed?
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What is the limiting reagent for the reaction in #27 Cucla
How many grams of copper(II) nitrate is formed?
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How much of the excess reagent is left over in this reaction?
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If 11.3 grams of sodium chloride are formed in the reaction described in problem #2, what is the
percent yield of this reaction? )
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Lead (II) nitrate reacts with sodium iodide.

Write the balanced equation:
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If 1 start with 25.0 grams of lead (IF) nitrate and 15.0 grams of sodium iodide, how many grams of

sodium nitrate can be formed?
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What is the limiting reagent in the reaction described in problem 27 Noa _L

How many grams of lead(IT) iodide is formed?
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How much of the nonlimiting reagent will be leﬁ; over fg}m tkSa reaction in problem #27
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f)  If6.00 grams of sodium nitrate are formed in the reaction described in problem #2, what is the percent

yield of this reaction?
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3) 1000. grams of sodium chloride is combined with 2000. grams of barium phosphate.

a) Wirite the balanced equation:
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4) A chemist combines 5.00g of sodium with 150.0g of 15.0% by mass solution of magnesium chloride.

Write a balanced equation for the reaction.
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b) Determine the number of grams of excess reactant.
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5) 4000. grams of hepltane is combusted with 7000. grams of oxygen.
CHe + 11 Oy -> 7 CO, + 8 H,O

. - - ‘}
a) What is the limiting reactant? Imsd C7Hip
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b) How many grams of carbon dioxide is produced?
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c) How many grams of excess reactant are left?
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6) 10.0g of zinc reacts with 10.0g of hydrochloric acid. The excess of this reaction is then reacted with
100.0g of silver nitrate. How many grams of silver are recovered? ;1004 push pein exeess !y
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T 12.5 g of copper are reacted with an excess of chlorine gas. If the percent vield is 90.2%, how many

grams of copper (II) chloride are obtained!
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8) In the reaction of Zn with HCI, 140.15 g of ZnCl> was formed. If the percent yield is 87.2%, how
many grams of zinc were originally used?
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